el T
WMAk#E  40x90° 1
JX)  40xe13 EAR 14X
K= 40x%Xx15m ERAR 2K
ZHE AR—Z#H 40x200 EER Zpnlpoz 158 BAR ¥ ANEEECEEIVIICHITWTTEW,
12,5, 1025 (A 12,5
300 160 160 O %7 O z4E8 292 150 150
nIx I
667 105
+ + 4 S ot TR - ¥ S
| E S Xz—gs  BAIT . 48
+ 4+ + + 4+ b b -+
- o ! 4—¢4,5%19,5L — = -
7]
BEHB AR
200 200 1040 (80)
25 275 2 15 185 91032 (K- ERT
o
1“ =
= | o | - 4
—H# <o 4 2.
o ©
—_——— — =~ * o
F====1 90 S T 90 S
Wk 2 B ok # 23041 I B s 1 [ R
F:::::: :::::::‘ — — ] ]
—*E)— X 2 o : ™ o
o ™ 2 F « ol &
i 1 S o o " e
! - b | o b | by
JVI9F
F:::::‘ F:::::::::::::::‘ ||
I::::::I I::::::::::::::::I : : I
FEAERA,
¢ : ¢ ¥ _ -
¥ KA, i
(Rt 1. 6BIESpoEMR | [— - [ — 17 —0oJ SOABZZ—A006
ST T3 T S B
B~ _AHy7evdS—b A B C D
———————————————————— = =\|| ESEBEEIARET . R = 20214
____________________ 7 © ‘3 O ” .O @gnﬂﬁMﬁﬁﬁ' 9A21H @@@




